THFANRTT - Y (T AFAaF)- g H.1414
TECHNICIAN — B (INSTRUMENT MECHANIC) — POST NO.1414

1. uREex & gifessr grT gAem...../Holding current in thyristor is always

a. ofder arr & ¥ grefi/More than its latching current
b. <fger arr & & gefi/Less than its latching current
c. ofer arr & "AE gei/Equal to its latching current

d. oifeer &Ry & 3rmeparfas gref/Proportional to its latching current

2. dferfed mgfaat & o & A H . gl ST &l
The difference between the half-power frequencies is known as the

a. 3orar sRe/Quality factor

b. 3mf-Er 3mgia/Resonant frequency
c. 83 &r =tss/Bandwidth

d. 3@ 3mgfa/Cut-off frequency

3. tH a9y &7 gfderer & Z=3+j4F g2ar 17 g1 3T Arelehed ... grem|

The impedance of a circuit is given by Z=3+j4. It’s conductance will be

a. 1/3
b. 3/5
c. 3/25
d. 4/5
4 v RLC #@en qRue #eae: Rivw g ¥

An RLC series circuit remains predominantly inductive

L

3fI-IEr 3Mgferav/At resonance frequency

b. 3rgaTer Mgy & =fr/Below resonance frequency

C. 3fATcr 3Mgfy & Fu/Above resonance frequency

d. @R sreerfFa amgfa 9wAL the lower half power frequency



5. s SCR ......... 2/An SCR is a

a. 3 walg & 3icw gFa/Three layer three terminal device
b. ™ &0 °ar 3w giFa/Three layer four terminal device
C. IR T I 3icw giFa/Four layer three terminal device

d. TR T "R 377 giFa/Four layer four terminal device

6. gfasmarlr @ear 10010100%T gfd & ........ gl
Twos complement of the binary number 10010100 is
a. 01101011
b. 01101100
11101100
10001011

e o

7. wh JK Fq-walld 1 33eqe Q 181 a3t T &t o9nd §#7g 9g 07 aRafda gar 81 saqe I3k K

FHAT: ... gl
The output Q of a JK flip-flop is 1. It changes to 0 when a clock pulse is applied. The inputs Jand
K are respectively

a. 03vand X
b. 1 3Rv/and X
c. X 3wand 1
d. X 3fand 0
8. us 8fsc ABHNETR Ig Idmar g fob sa# ... &/

An 8 bit microprocessor signifies that it has
a. 8faT vz /8 bit address bus
b. 8fse fa==or @/8 bit control bus

c. 83 |rs/8 interrupt lines
d. 8fec Srer s9/8 bit data bus



9.

10.

11.

12.

-10V ¥ +10V d% Whaarel Y Higd dieeadt @ fawgia L. gl
The span of a zerocentered voltmeter having a scale from -10V to +10V

a.0Vv
b.-10V
c. 10V
d. 20V

...... & o yadet AFET & 39ier fRar Jrar &/
FET are used in amplifiers to get

a. 3@g fagyr gfasremHigh input impedance
b. &1 foaer gfdsar/Low input impedance
c. 3=g fetA gfasmar/High output impedance
d. = e gfasrarLow output impedance

JATelellcHes Udtieh hiferader Jiaerer ... gl
The input impedance of the operational amplifier is

a. taAd/Infinite
b.r=a/zero
C. 9gd 318 wifehst 31t s¥gi/very high but not infinite

d. qgT FHA/VEry small

fe@rar =T oYY ... 2/The circuit shown is

) C
a. gATHH/AN integrator I I
b. Irs/Adder

] R
c. 3rgsax/differentiator I in )
I ot

d. eggsea/substractor



13. 1 foet afferT Ferd: ... g/
Wien bridge oscillator is basically a

a. g SAfr3/Pulse generator
b. saraer Sf=/Sine wave generator
¢. A SIFE/Square wave generator
d @i a1 SfHF/Triangular wave generator
14. &rs fRoT JfACIERT & AEGH @ Ferl (hol) 3R AGRT A AT & fIT g Jeot Fl.... Fgl

ST &1
The patterns used to measure phase and frequency with a cathode ray oscilloscope are called

a. forarsy @ Yesi/Lissajous pattern
b. %E & Yeai/Faraday’s pattern
C. 3 & Yot /Ohm’s pattern

d. fsfera &1 Sesi/Phillips pattern

15. T 3HeTEY 3T 3ol Ffeie A, fAder & IR gl Tl &M 3Hefehd ... g1l
In an analog data acquisition unit, the sequence of the blocks starting from the input will be

a. TEESIE, AN, Hebhe wrejshersh/ Transducer, recorder, signal conditioner

b. T=ESTER, Hehd Ilelshersh, fererdl/Transducer, signal conditioner, recorder

C. Hehd Ylelsholsh, gl-H3gER, JHerEl/Signal conditioner, transducer, recorder

d. @&ha Wiefheteh, 3ifaerdl, a=asgEr/Signal conditioner, recorder, transducer

16. 3°& YTcRIth T T AT 3aqd & & H ... # IGAT fhar S gl
Thermistoris used as basic sensing element in a

a. 3itad ufaadr selecifel arecardi/Average responding electronic voltmeter

b. Rrer & Rrax ufaadr seaci=i arecamd/Peak to peak responding electronic voltmeter
C. arEdids rmsufaadr solercifeter areeardl/True rms responding electronic voltmeter

d. 3ede e @ Rex 9faedr solecifere alecATdT, el

Both average and peak to peak responding electronic voltmeter



17.

18.

19.

20.

A TTL et & [Quoe ... G & & H fhar e gl
The standard TTL gates are marketed as .............. series.
a. 80
b. 82
c.74
d. 08

LVDT&r yares fageid & g?
What is the principle of operation of LVDT?

a.3=3a1= Wehca/Mutual inductance
b.zawsca/Self-inductance
c.xurR_ica/Permanence

d.wfasersr/Reluctance

39 yotel T 3TgRy 4T grelt, TS 35 Teer 7 At A gl 812

What will be the frequency of a system in which 35 events occur in 7 seconds?
a. 7/Hz

b. 35Hz

C. 5Hz

d. 10Hz

T TURY AT 9T YUlell & T em (hel) FhAUT INGRY W Al gALm ... gl A1fgl
For a stable closed loop system, the gain at phase crossover frequency should always be:
a.<20dB

b.<6dB

c.>6dB

d>0dB



21. op-amparr 3TEeT 3fderetor a1 S8 &7
Which is not the ideal characteristic of an op-amp?

a.faael gfaier—> 0/Input Resistance —> 0
b.fet& gfdemar—> 0/Output impedance —> 0
c.dsdr =iss—> oo/Bandwidth — oo

d. ger urer ateedr ofetr—> oo/Open loop voltage gain —> oo

22. 8 T T TAT ... AT & T fRar srar gl
Load cell is used for the measurementof ............

a.8 wer/area
b.ger/force
C.TTAT/VISCOSity

d.s=rg/length

23. (Sec’0-1)/tan? © =

a 1
b. 2
c. 3
d 5

2437 SinO+CosO/SinO-CosO=(V3+1) / (V3-1), & 0T © & Tar semy|
If SinO+CosO/SinO-CosO=(\3+1) / (3-1), find the angle ©
a. 90°
b.45°
c.30°
d.60°



25. T & A AB & &g 9l gfderen ... gl
The Thevenin impedance across the terminal AB of the figure is

A
20
Wy
1A 30% 7 %20
v
Wy E
20
a. 10/3Q
b. 20/9Q
c. 13/4Q
d. 11/5Q

26. pH &1 qReelet A & T Weafai@a & Sia-8 g &1 g3 fear ser g2
Which of the following is the formula for pH calculation?
a. logio[H+]
b. -logio[H+]
c. logz[H+]
d. -log2[H+]

27. FSit T eg1agTRes AT kwh g1 el &1 Sl &= et &1 kwh & Sfef & @@ .8
The practical unit of energy is kwh. The SI unit of energy is joule. The number of joules in kwh is
a. 3.6
b. 3.6x10°
c. 3.6x10°
10°

o



28. & grocet F W SAaTaT SATHT dERT Hl RIET-J-FRAEWT a1 3H 638 &1 37R
FeAeR garfear Afeer 5 V/iem g, @ deear # RIE g rms &A= ... g

A sinusoidal waveform as seen on an oscilloscope has peak to peak amplitude of 6 cm. If the
vertical sensitivity setting is 5 V/cm, the peak and rms values of voltage are

a) 30, 21.2

b) 15, 12.36
¢) 21, 2.30,
d) 15, 10.61

29. 13%Us Feieh & HY FUH HIC A IIHHAT Aol T g 3=t 1 50° C& 0°C & v fader femm
Srar &1 0.6 @&vg & &g °C & ag#A=T ... &l

A temperature probe having a first order response with a time constant of 1second is given a step
input from 50°C to 0°C. The temperature in °C after 0.6 second is

a) 18.4
b) 25
c)27.4
d) 45

30. Y-Jed & AIY U 3ocl Hacl wAcde i o G a7 g1 Ry, Roaar Reuferier (30e #) saer.... gl

A delta connected network with its Y-equivalent is shown below. The resistances R1,R2 and Rs (in
ohms) are respectively.

5 R1
5Q 30Q
R3 R2
b }\N\' c
15Q
b C

a. 153&9
b.39&15
c. 93,15
d. 3,159



3Lzl 11w &l | a1 fAemer Y 3R gt & o R are @iz &1 2o v §U @ 3R F 9T

C28

Match List I with List 11 and select the correct answer using the codes given below the lists:

srg/Codes :

T I/List | T 1/List 11
P. R & fa# &A=/Low value of R 1. 3% fegsr/Scherring bridge
Q. 3T3-Q W&/High — Q inductor 2. #Hemaa fess/Maxwell bridge
R. fa#&1-Q 9&/Low — Q inductor 3. *fead saa fogar/Kelvin double bridge
S. 3= arecar gutika/High voltage capacitors 4. g fsss/Hay bridge
P Q R S

a. 1 2 4 3

b. 1 4 2 3

C. 3 2 4 1

d. 3 4 2 1

32. 600311 UfCRIY dUT Th 3FTT U1y I T Aufigae HI135 Vat SRt Iwie I siver ar=r &1 1.2
kQ gfasar arel T diecder @ 60031 iR & 3R-uR SEr 17 g o aegie 5V gl

gl

A dc supply of 35 V is connected across a series combination of 600 ohm resistance and an
unknown resistance. A voltmeter having an impendence of 1.2 kQ is connected across 600 ohm
resistance which reads 5V.The unknown resistance is of

a. 500 Q
b. 1.7 kQ
c. 2.2kQ
d. 2.4 kQ

33.@3‘%@%%200(:WSOOOQ%ﬁTWmWWO.O4/OC g1 10 Q 3r37 g

& 91T AT W

..... # 3R g

The resistance of a thermistor is 5000Q at 20°C and its resistance temperature coefficient is 0.04 /°
C. A measurement with a lead resistance of 10 Q will cause an error of

a.
b.

C.

0.05°C
0.1°C
0.4°C
0.8°C



34. gl (Fe) & g I(aRemn) & @ A S AR g & A few v Sis F9ET X g aE
3T HT TIT L
Match List | (Terms) with List — Il (Definitions) and select the correct answer using the codes given
below the lists.

F=nl/List | T=ll/List 1
P.fasies1/Resolution 1. FETar SIgr I FH UISATH Tl AT &
HUT ATAT &

Closeness with which the instrument
reading approaches the true value

Q.ganfgdr/Sensitivity 2. HAGT F GeTbcaTeaId]
Reproducibility of measurements
R.zardar/Accuracy 3. AU A # 98 Bl IRadd TR
T 3EThAT T Th

Smallest change in measured value to
which the instrument can respond
S.wéreRdr/Precision 4. = & Fefhar & @y el aRadt @

3eTdrd

9

Ratio of response of the instrument to
the input variable
ars/Codes :

o O T o

Mwlw|s|o
w|h| D wlO
NN (O
RINEFERINW]

35. U 3ol (Hel) AMGT H GlAl dle ATUAT HT TSI Ueh TATT AT| olig & AFT PRF ... AT
In a 3phase measurement both the watt meters had identical readings. The power factor of the load
was

a. 0.8 ge=em#1/0.8 lagging
b. ws/Unity
c. 0.8 3rradi/0.8 leading

d. =a/Zero

10



36. dleedrATr arT AT A 24.3V &, dfthed 3HA TEl AT 24V &1 AIGT I 3fEd e Far §7?

Using a voltmeter measured value is 24.3V, while its true value is 24V. What is the relative error of
measurement?

a. 1.25%

b. 1.2%

c. 1.3%

d. 1.4%

37. uw 3 dleedrdr # ganfear 5000hm/VEr 18 §1100V wrE & Hyol &hel wiedis & A

dlecdr AT ¥ gl JaTfed ORT fhdsi grefr?
Given a DC voltmeter has a sensitivity of 5000hm/V. For a full scale reading in 100V range, what
will be the current through voltmeter?

a. 500mA
b. 200mA
c. 250mA
d. 300mA

38. T Sififehar gRT Aifed SR Sa¥as s & Rigid &1 ST o1 91 Sid Fded HH 8?2
Which of these biosensors use the principle of heat released or absorbed by a reaction?

a.favafirda Si9 Taga/Potentiometric biosensor
b. yHRiT Sfa Wdg®m/Optical biosensors
C.q ﬁajg?r Sl "ages/Piezo-electric biosensors

d. 3vafadasia @age/Calorimetric biosensors

39. s 500kVA, 3Far (%ef) T=Edal # 300W $ &g & 3k 600W dr qut ois drF &1 g1 3ifReds

geTdT & T germreanfaauiard ag ... gl
A 500kVA, 3 phase transformer has iron losses of 300W and full load copper losses of 600W. The
percentage load at which the transformer is expected to have maximum efficiency is

a. 50%
b.70.7%
c. 141.4%
d. 200%

11



40. wh o= # 0.01 Hz, 1 Hz 3R 80Hz W ¢ durdHz, 100Hz 31k 200Hz & == &1 20 Hz &k &+
I I JTATAT Fell (Be) ... &l

A system has poles at 0.01 Hz, 1 Hz and 80Hz, zeroes at 5Hz, 100Hz and 200Hz. The approximate
phase of the system response at 20 Hz is :

a. -90°
b. 0°

c. 90°
d.-180°

41, 39X TH HHT FEOR Al T AexX [ 36° 3R T&&T o1 9° §, 3R Femsii (hal) T & ... gleir gl
If a hybrid stepper motor has a rotor pitch of 36° and a step angle of 9°, the number of its phases

must be
a. 4
b. 2
c.3
d. 6

42 Gqfrd SIS FolTS FAdTell Teh f3-ahell JOTTS &1 el AfFT &I AT & fIT SIS 9T & qre-Ardy
1 aragieh 20.5 KW 3R -3.5 KW sharer: €, ar el ik ... gl

Two watt-meters, which are connected to measure the total power on a three-phase system
supplying a balanced load, read 20.5 kW and -3.5 kW respectively. The total power is?

a. 13.0 kW
b. 17 kW
c. 15 kw
d. 19 kW

43.30R qifdd $or fde i (FARY) 64 X 8 & 3R 3R 3uesy wfaar (AANe)16 X 4 feesmsr & &,
ar e wafaat fr g grem|

C

If it is desired to have total 64 X 8 bit memory and if the memories available are of 16 X 4 bit size,
then the number of memories required will be

a. 8
b.6
c.4
d.2

12



44. T FEAEANET H U Soarel 3eTel e & ual ... # st @ Bl
In a microprocessor, the address of the next instruction to be executed, is stored in

a. ¥¢F digex/Stack pointer
b. vsg e/Address latch
C. WA H3eX ITaEey/Program counter register

d. g#HT 3T Ioreet/General purpose register

45, Th Fell-31aTeeh TR &1 AR Beled G(S)=K/s(s+2)(s+4)8| HIT umer deddeh HIsseh Jomel
glelel ST T@eAT g1 ATKahT AT ... grem|

A phase-lead compensator has the transfer function G(s)=K/s(s+2)(s+4). The value of K which
will cause sustained oscillations in the closed loop unity feedback system is

a. 16
b. 32
c.48
d. 64

46. 240V 60 Hz X te eewier $r dfdex grfa 30W &1 200 V, 50Hz 9 e g ... grafr

A transformer has hysteresis loss of 30W, at 240V 60 Hz. The hysteresis loss at 200 V, 50Hz will
be

a. 28W
b. 25W
c. 30W
d.36W

47. wereT (s+1)/((s-1)(s+3))aFr afaaialr arcemd R ... gl

The inverse Laplace transform of the function (s+1)/((s-1)(s+3)) is

a. (1/5)et- (3/4)e™
b. e-(3/5)et
c. (5/4)e-(1/4)et

d. et4+2e3t

13



48. 3PR @3 T o7 60°, e 3.589EH T §, A I9-oErs ... gl
If angle of sector is 60°, radius is 3.5 cm then length of the arc is

a. 3¥=érAe/em

b. 3.58=&HIeT/cm

C. 3.668=E#Her/Icm
d. 3.8 @=d#eT/Icm

49. arg °vuT 3HgHES HT 3UANT 38 IF H fahar Srar g s LR
Air friction damping is used in the instrument which is

a. ¥ifaaATs sg/Moving iron
b. arfaam= $selymoving coil
c. wXurinduction
d. dca arvhot wire
50. wsw AM T T Agae Fawis 08 1 7 aRafdd famar smar 81 w=Ra afFq..... B
The modulation index of an AM wave is changed from 0 to 1. The transmitted power is
a. # 25%ar geftrgrdl/Increased by 25%
b. 3mem gra/Halved

C. g7 glar/Doubled
d. #50 %1 gefererci/Increased by 50 %

51371 f9gsr &1 39T ... & forw foRar amar g1/Scherring bridge is used to

a. Wrdegd gifal 1 gar «me/Determine dielectric loss

b. 9casr gar «9msi/determine the inductance
c.fawr ufaQer s ATgs/measure low resistance
d. 33T Waed &I ATIa/measure mutual inductance

14



52. w 12f9¢ w3 uRads & fav Hash dohd & e 04 +10V &1 1LSB & 3i[&9 dleear ... gl

For a 12 bit A/D converter the range of input signal is 0 to +10 V. The voltage corresponding to 1
LSB will be

a.0

b. 0.0012 V
c. 0.0024 v
d.0.833V

53. T& 3Ta Q 9H H Wahed ... T 3TN A T AT ST Hhell ¢
The inductance of a high Q inductor can be measured using a

a.3Rer fagsr/Schering bridge
b. &= fegsr/Wein bridge

c. Hwaaafsssr/Maxwell bridge
d. gfsrssi/Hay bridge

54. 3¢ arer faspfaard ... Rcyid W 13 L g
Semi conductor strain gauge works on the principle of

a. el warra/Piezo-resistive effect
b. geprer %ajg?r gama/Photo-electric effect
C. 3sAT Trerehdr/Thermal conductivity

d. s & Fig ot Agi/None of these

55. T3 TedlE &R, & Udlel I & 3l HT HISd el & [0 fohdel foe & 872
How many bits are required to encode all the twenty six letters, ten symbols and ten numbers?
a. 5
b.6
c.7
d. 46

15



56. s d 9@ Hehd TSR IMGRY deeee 1 MHz & 2 MHz & R & 8, &1 gfdede fhar S g1 dqer
Hehel T GoATolTAd fohaT ST Tohell & IS wgaTde Ticdesl (dedfelan) e ...... gl

A band pass signal having the frequency contents in the range of 1 MHz to 2 MHz is to be sampled.
The original signal can be reconstructed, if the minimum sampling rate is

a.10%= wfar dsus/samples/s

b.2X10% e wfa dwvs/samples/s

C. 4X 10%#= wfa dvs/samples/s

d. 6X10°%e7s 9fey dwvs/samples/s

57. R=5kQ 3k C=0.01pF & vs di=t-fasst afers & areret &1 g ....... gt
In a Wien-bridge oscillator with R=5kQ and C=0.01pF, the frequency of oscillation will be

a.
b.
C.
d.

7.8 kHz
3.2 kHz
2.5 kHz
780 kHz

58. A IRUY & TAehead! AR # 2T Alhg T il & AU &7 HET HROT fAeAtai@d & aar §7?
Which one to the following is the main reason for insertion of two active strain gauges in the
adjacent arms of a bridge circuit?

a.
b.
C.

d.

3T ganfear yred ¥ gg/Achievement of higher sensitivity
WA g safeRtoT @Y gT = g/Elimination of radio frequency interference
TATERofg dT9ATT & 98d @ gx el go/Elimination of effect of environmental temperature

Ad & I dJelel T garew <= g/ To facilitate quick balancing of the bridge

59. Wl o SranfAer F Hed: ... gar g/Ladder logic programming consists primarily of :

Hfead Rel €9 @ Fsell/Virtual relay contacts and coils
TaYeh oSl o T1T dh e arew/Logic gate symbols with connecting lines
T oSl o A1 YT salie/Function blocks with connecting lines

cFre-3maTRa s/ Text-based code

16



60. ar ag AR 7 § 3R v g & S a1v § 3R geas Aol 7 §| 98 Aeafai@d a& de J fhaer
caifelr 87

Two switches are in parallel and are connected with a lamp and supply in series. This represents
which of the following logic gate?

a. AND gate
b. OR gate

c. EX-OR gate
d. NOT gate

61.0F AT & & A1 & ¥ 31 AT Hr Frear FF _ARSe F_AqTar 2qsg FAT §7?
In a measurement, what is the term used to specify the closeness of two or more measurements?

a. gdrsndr/Precision
b. Zrarefar/Accuracy
c.geraAar/Fidelity
d.ggel/Threshold

62. gra-facgd geasgER ¥ Fratafld # faasr Aq forr S gevar 7
Which of the following can be measured using Piezo-electric transducer?

a.2TeIdT/VISCOSity
b.faFam=1/Displacement
c.gd/Force
d.eafa/Sound
63. Jehrer =MeTehd el A TAo=TIAd H Hlef TFFT giar 87
Which of the following is used in photo conductive cell?
a.faafaaa/Selenium
b.#Faréa/Quartz
c.(er srgur/Rochelle salt

d.fafaga gete/Lithium sulphate

17



64. xal At # frafaf@d # @ Fla gRade giar §?
Which of the following conversion take place in bourdon tubes?

a.gre & favamgA/Pressure to displacement
b.grer & dreedr/Pressure to voltage

C.g19 ¥ gde/Pressure to strain

d.gre & so1/Pressure to force

65.9¢elT varg & fov Aeafaf@a # Fi9 Yesa d&ar #r garar g7
Which of the following represents Reynolds number for laminar flow?

a.2000& s#/Less than 2000

b.4000% 31fee/Greater than 4000
c.3=a/Infinite

d.3feaf@a #15 siv agi/None of the mentioned

66. Fhd A sin (4nt+d)Fr mafr a=r gref?
What will be the frequency of the signal A sin (4nt+)?
a. 2Hz
b. 0.5Hz
. 2nHz
d. 4nHz

67. 3 @% g A FAfAA o T o e & AT G fhar ST g
Linear and torsional springs are used to provide and

a. 91 g Sel3geT & shaer: -Earfid/Restoring force and restoring torque respectively
b. ST3MET @ d HT A YA-FUAA/Restoring torque and a restoring force respectively
C. Shdel JI3MTEQT &I Y- Fg1T0/Restoring torque only

d. 3fcaf@a =15 sit agi/None of the mentioned

68. AT Th ......... SH YUTTell g/Spring is a order system.
a.=a/Zero

b.gu#/First
c.gfadra/Second
d. g/ Third

18



69. HgT Urr YU & foT foieet & & &y v dqoT ifdeafera ear g2
Which of the following represents complete expression for a closed loop system?
a. Ap
b. A/ Ap
c. A/ (1+AB)
d. 1/ (1+Ap)

70. RUTTcA® Hissd gumell & fow A=3 3R p=2 dar ar Hrsde & e gfderer 100Q g1 38Hr
For e wfcamen fohael gef?
For a negative feedback system, A=3 and f=2 and output impedance without feedback is 100Q.
What will be its total output impedance?

a. 143 Q
b. 700 Q
€. 33.33 Q
d. 50 Q

71. STeeR JTATYY ... fRAgyid W 1A F ¢
Doppler velocimetry works on the principle of

a.dq SRRt Haeeh @ Mg Ad=/frequency measurement of fiber optic sensor

b.cq JepifIshr Edesh 1 3mare Ae/amplitude measurement of fiber optic sensor

C.dq JehIRIhT Hdeeh T el HY=A/phase measurement of fiber optic sensor

0. wehifRIehr Fdesh T el faearaes Argertime shift measurement of fiber optic sensor
72. S\ g s1el AAY & fAU Hid-dr aregeer (3nfdeaR) Be a8 vere e §?

Which architecture provides separate buses for program and data memory?

a.gids aregshenr/Harvard architecture

b.afer #=g#= areqerer/Von Neumann architecture

c.3feaf@a +15 st sigi/None of the mentioned

d.3feaf@a asi/All of the mentioned

19



73. Vo8 foset &1 ... & T 393her foRar Srar g/
Anderson bridge is used for

a.¥9-9&cd & A9el/the measurement of self-inductance
b.gfaer & ArgeA/the measurement of resistance
c.amRdar & Ags1/the measurement of capacitance
d.ufasrer & Amgs1/the measurement of impedance

74. t& IGBT & s cf@as & S ... gl J1ar &/
An IGBT has three terminals called :

a.gImg), 3caeie AR 3mar/Collector, Emitter and Base
b.3marg, | 3 3mary/Drain, Source and Base
c.39arg, did 3R e/Drain, Source and Gate

d.F@amgl, 3casis 3R Ae/Collector, Emitter and Gate

75. AT & @ dIgeR & YPFd STl & v aifsd pH &= Sl §?
Out of the following, which is the desirable pH value of the water used in boiler?

a.us/unity

b.7
c.5.5
d. 85

76. ECG #, 372rienet Hehat 3 ... g/In ECG, the calibration signal amplitude is

a.lmv

b. 1V

c. 1 microVolt
d. 0.5 mv
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77. EEG ¥a&hd &l 3¢9 ...... T g3 ¢/The EEG signals are originated from the

a. Tesrer da/Glial cells

b. Arex gfare/Motor units

C. dreIfeig ga/Sinoatrial node
d. teifeeifast/Acetylcholine

78. wrse MUY H&AT (BAD)16HT S#Held Jed ..... B
The decimal equivalent of the hexadecimal number (BAD)1¢ is
a. 111013
b. 5929
c. 3416
d. 2989
79. vk |10 T&eFhi T Hehel HT Fol el (3d€) I TEAT ... gl
The total number of events of throwing 10 coins simultaneously is
a.1024
b. 512
c. 100
d. 10

80. 7 A=Erliex Bar & Th I B FT Hel TST GAB ... gl
The total surface area of a hemispherical solid having radius 7 cm is

a. 462 cm2
b. 294 cm?
c. 588 cm?
d. 154 cm?
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